F2RITELT—RU—T HREHR

[LT4—X1)—4A) 2017.01. 16 SF13%& H R @R B fE
A No |5 & Aay i #
GTA-1 B E R E K a 2 1 B HEEK a
GTA-4 k@ 2 1 s E R E K a
GTA-7 Fr EH% a 2 1 By H R E K a
GTA-10 B H A Em K a 2 1| SSEVF—a + HHREFD
GTA-13 B E R EK a 3 0 DL AKRDa
GTA-14 k@ 2 1 B HEEK a
GTA-11 B a 3 0 B HEEK a
GTA-5 FREHEEESK a 2 1| SSEVF—a + HHREFD
GTA-9 BroE SRR a 3 0 DL AKRDa
GTA-2 kb4 a 3 0 ST
GTA-8 | SSEVF¥—a + FRED |2 1 F EEms
GTA-12 s 3 0 XD ELAKRDa
GTA-15 kB4 a 3 O| SSEVF—a + HFRED
GTA-6 A a 3 0 XD EARD a
GTA-3 | SSEVF—a + HREFHDb |3 0 XD ELEAKRD a

(LT 14—R1)—%B]
A No |5 & = i =)
GTB-1 FEHF%ED 3 0 B HEESK D
GTB-4 F EH%E b 3 0 XD E AR
GTB-7 SRR a 2 1 kB4 b
GTB-10 FERPFK a 2 1 % Db
GTB-13 kB4 b 3 0 M EHFE—a
GTB-14 B HEEK D 3 0 DL AR
GTB-11 SRR a 3 0 B HEESK D
GTB-5 R a 3 0 B H SRR b
GTB-9 B EE—a 2 1 B HEEK D
GTB-2 SRR a 3 0 XD L AR
GTB-8 g a 3 0 XD L AR
GTB-12 fEF—a 3 0 XD E AR
GTB-15 HERPFK a 3 0 SN FK a
GTB-6 SN FK a 3 0 M EE—a
GTB-3 PR a 3 0 FLE$—a




[LTF4—R1)—%C)

A ANo | = A=a7 |k =1

GTC-1 F— ik 3 0 SSEVF— b
GTC-3 F— ik 3 0 B EFE—D
GTC-6 F— Ak 3 0 PR b
GTC-9 F— A lde 3 O HrFHEESKc+T 5T a
GTC-10 B EZFE—Db 2 1 SSEVF— b
GTC-4 AL b 2 1 SSEVF— b
GTC-7 DI HERER c +H%&Ta " | 2 1 SSEVF— b
GTC-8 PR b 3 0 B EFE—Db
GTC-5 P HERER c +H%&Ta " | 2 1 FEFE—D
GTC-2 PR b 2 1| B HEEER c +Hkfa
(LT4—X1)—%D]

A ANo | = A=a7 |k =1

GTD-1 g d 2 1 R ¢
GTD-3 FrEH—c 2 1 PR ¢
GTD-6 e I b 2 1 R ¢
GTD-9 R ¢ 3 0 B H K d
GTD-10 FrEH—c 3 0 g d
GTD—4 e I b 3 0 g d
GTD-7 B HEZE R d 2 1 g d
GTD-8 e I b 2 1 FEH—c
GTD-5 FrEE—c 3 0 B H R R d
GTD-2 B HEZE R d 2 1 Fe) A b




